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— ~ The world price of wine is below the price that would prevail in Taiwan in the
absence of trade.

1. Assuming that Taiwan's imports of wine are a smajl part of total world wine
production, draw a graph for the Taiwan market for wine under free trade.

Identify consumer surplus, producer surplus and total surplus in an appropnate
table. ( 1043) : :

2. Now suppose that an unseasonably cold summer in Europe destroys much of the

grape harvest there. What effect does this shock have on the world price of wine?
( 104}) Using your graph and table from part (a), show the effect on total
surplus in Taiwan, ( 10 43)

= - Suppose government spending increases. Would the effect on aggregate
demand be larger if the Central Bank took no action in response, or if the Central
Bank were committed to maintaining a fixed interest rate? Explain. ( 2043)
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A Chester Bamard #) Acceptance Theory of Authority
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C. %% (distrust)

D. ##& (disillusion)
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— ~ The world price of wine is below the price that would prevail in Taiwan in the
absence of trade.

1. Assuming that Taiwan’s imports of wine are a small part of total world wine
production, draw a graph for the Taiwan market for wine under free trade.
Identify consumer surplus, producer surplus and total surplus in an appropriate
table. ( 1043)

2. Now suppose that an unseasonably cold summer in Europe destroys much of the
grape harvest there. 'What effect does this shock have on the world price of wine?

( 104}) Using your graph and table from part (a), show the effect on total

surplus in Taiwan. ( 1043)

T ~ Suppose that firms become very optimistic about future business conditions and
invest heavily in new capital equipment. Use the diagram of aggregate demand
and aggregate supply to show the short-run as well as the long-run effect of this
optimism on the economy. ( 20 )
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1. Henry Mintzberg's observations of managers and subsequent research indicated -
that the diverse manager activities could be organized into ten
a. functions o
b. activities
¢. roles _ .
d. actions

e, departments i,

2. Which areas in the behavioral sciences have significantly influenced the way in . R

which managers approach organizational strategy and structure?
a. science and math
b. Psychology and biology
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¢, Sociology and Philosophy
d.. .Economics and Sociology
e.” Economics and Psychology
3. Theterm is used to describe a country's physical facilities that
support economic activities. ‘
a, development structure
b. government structure
¢. infrastructure
d. financial structure -
e. social structure
4. A nation's culture is made of which of the following elements:
a. language, economy, political structures ‘ A
b. knowledge, beliefs and values as well as the common modes of behavior and ‘
ways of thinking, among members of society -
¢. market systems, exchange rates and transportation routes
d. economic development, political stability, infrastructure -
e. the risk of losses of assets, earning power, or managerial control due to
political events or actions by host governmenis -
5. The difference between a merger and a joint venture is? : 4
a. the number of people involved
b. the amount of capital investment involved between the firms .
¢. joint ventures are between individuals, mergers are between organizations
d. Joint venture is a strategic alliance. Mergers combine two or more
organizations into one. ' '
e. both are the same term for each other
6. A  is a desired future state that the organization attempts to
realize. _ '
a. blueprint
b. scheme
c. pgoal
d. plan
€. strategy
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7. The invests his or her money and owns the business but does not
have to develop a new product, create a new company or test the market.

a. franchiser

b. partner

¢. corporation

d. franchisee

e. proprietor

8, Which of the following is not a quantitative techmque?
break-even analysns

linear programming

pay-off matrices

programmed decisions not establishing precedent
decision frees

pROTE

9. The structural design approaches that reflect different uses of chain of command
in departmentalization are .

a. functional, divisional, matrix, teams and networks

b. functional, departmental, minimal, teams and networks

c. fundamental, divisional, matrix, teams and organizational

d. divisional, matrix, teams and networks

¢. functional, matrix, teams and networks

10. Which is a structure that groups departments together according to
organizational outpuis?

geographical approach

functional approach

divisional approach

matrix approach

organizational approach

pRn T

11 changes involve the hierarchy of authority, goals, structure,
characteristics, administrative procedures, and management styles.

Culture/ people

Structural

New product

Technology

Economy

p e TR

12. Within the context of changes of irends in society, human resource managers
must achieve the three primary goals of X and
an effective workforce for the organization.
planning, organizing, controlling
attracting, developing, maintaining
staffing, organizing, controlling
maintaining, planning, developing
organizing, staffing, and planning

o TR

13. Typical questions that might be asked in human resource planning include all of
the following except

a. what new technologies are emerging, and how will these affect the work

system?

b. what is the volume of the business likely to be in the next five to ten years

¢. what was the number of defective products that were returned last month?

d. what is the turnover rate and how much if any is avoidable?

e. 'who is up for promotion or transfer, and whom do we plan as a replacement?
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14. One approach to enhancing recruiting effectiveness is called
a. on the job training (OJT)
b. an exit interview (AEI)
¢. an initial interview (AII)
d. realistic job preview (RIP)
e, prounds for immediate dismissal (GFID)

15. is the belief that one's own group and subculture are
inherently superior to other groups or cultures.

Monoculture

Pluralism

Ethonorelativism

Ethnocentrism

Eccentric

R

16. The glass ceiling
a, is a visible barrier that separates the parkmg deck from the front lobby at
Cormng Glass
b. is an invisible barrier that separates women and minorities from top
management positions
c. does not really ever exist
d. exist only in the glass industries
e. isthe same as glass walls

17. power comes from a formal management position in an organization
and authority granted to it.

Referent

. Expert

Coercive

. Reward

Legitimate

papTs

18. The autocratic and democratic styles suggest that it is the " of the
leader rather than a personality trait that determines ieadershxp effectiveness.

a. fraining

b. breeding

¢. behavior

d. responsibility

e. luck
19. is the extent to which the leader is task oriented and directs
subordinates' work towards goal attainment.

a. initiating structure

b. consideration

¢. reconsideration

d. lack of consideration

¢. originating organizational structure

20. Leadership situations can be analyzed in terms of three elements:
a. the quantity of the membership, the organizational structure, and position of
authorlty
b. the quality of leader-member relationships, task structure and position power
c. the style of the leadership, the educational level of the membership, and the
use of power
d. the power of the leadership, the member relationships and the organizational
structure
e. position power, power-relationships and authority of the members
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21. theories emphasize the needs that motivate people. Probably one
of the most famous of these theories was developed by Abraham Maslow.

a. Whole person

b. Social person

¢. Economic person

d. Content

e. Reinforcement

22. is based upon the works of Hertzberg and Maslow.
a. Job simplification
b. Job downsizing
c. Job rotation
d. Job enlargement
e. Job enrichment
23. programs give employees potential ownership of the business.
a. Lump sum bonus
b. Pay for knowledge
c. Flexible work schedules
d. ESOP
e. Job sharing
24. is a widely held generalization about a group of people that

assigns attnbutes to them solely on the basis of some common belief, which is usually
a gross generalization that is incorrect,

Stereotype

Perception organization

Perceptive selectivity

Perception

Archetype

Py

25,

Lh

The five types of information communicated upwards are?

implementation of goals, strategies, and objective budget approvals
indoctrination, job instruction and rationale, goals, strategies, procedures
procedures and practices, performance feedback, memos

. problems and exceptions, suggestions for improvement, performance reports,
grlevances and disputes, financial and accounting information

e interdepartmental problem solving, coordination, staff advice to line
departments, memos, faxes

eewE

26. The is an informal person-to-person communication network of
employees that is not officially sanctioned by the organization,

a. semantics

b. centralized

¢. decentralized

d. grapevine

e. disorganized

27. The concept of problem solving teams was initiated in Japan. These problem
solving teams were known as

problem teams

quelity circles

discussion groups

efficiency clubs

social organizations

ppoTH
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28. 'What is the proper order of the stages of team development?
storming, norming, performing, adjourning

adjourning, storming, norming, forming, performing
performing, storming, norming, forming, adjourning
forming, storming, norming, performing, adjourning
forming, norming, storming, performing. adjourning

pRp e

29, is defined as the systematic process through which managers

regulate organizational activities to make them consistent with expectations
established in plans, targets and standards of work performance.

a. organizational conirol

b. organizational planning

¢. organizational staffing

d. organizational directing

e. organizational organizing

30. Top management control systems concern

- ;waste, material, overtime; quality

" productivity, manpower needs, resources needed
product, price, place, promotion
financial statements, financial analysis and audits
budgets, MBO systems

PRAFE

[F¥)
—

Total quality means a shift from to the method of

a. clan control, bureaucratic control

b. bureaucratic control, no control

e. clan control, increased control

d. no control, bureaucratic control

e. bureaucratic control, clan control
32. Ina center, the budget measures the difference between revenues and
costs.

a. cost

b. investment

¢. profit

d. revenue

e. responsibility
33. is defined as the reconsideration and redesign of business

systems that brings together all the elements of a single business process, enabling

managers to eliminate waste and delays.
a. Remanufacturing

b. Refooling

¢. Reengineering

d. Revolution

€. Repenerafion

34. Of the technologies being used, represents new uses of

computers in the product design and development stages of operations management.

flexible manufacturing
T o
CAD/CAM

product design
production control

R
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35. When looking at financial resources, the two methods of debt repayment are?
cash and bonds . L
debt and equity

debt and debtor ; A
short term and long term '

secured and unsecured i

pRPTE

sl . 36, The is an unbroken line of authority that links all of the persons in.
an organization and shows who reports to whom.

linking pin

organizational chart

chain of command

strategic plan

organizational mission

s EE

37. The process that subjects people with aufhonty and responmbthty to report and
justify task outcomes is called
a. - authority
b. accountability 10
¢. responsibility
B d. task ' 4
e. delegation :

100

. 38. When the external environment uncertainty is high, the organization should have .
= ' a structure that emphasizes lateral relationships such as teams and task o
forces.

T a. loose N
b. tight

e. mechanistic _ J15
d. organic

e. inorganic J

18]

39. There are different levels of the organization and therefore there should be
different levels of the planning process. What level of the organization should be
looking at the question, "What business are we in?" .

Business level strategy

Corporate level strategy

Functional level strategy

Personal level strategy 7 _ ' 20
Industry wide level strategy : — :

20

P Re e

[ 40. The competitive model lists five competitive forces. Which of the following is
not part of the model?
a, Potential new entrants
b. Bargaining power of buyers
e. Life cycle of your product : .
d. Threat of substitute products
B e. Rivalry among competitors -

251, 25
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' Multiple choice (5 points each)

1. Which of the following statement is false? _

a. Rational choice by an individual implies making decisions aimed at achieving
some predetermined goal.

b. Economists believe that concern for the welfare of others is consistent with the
concept of self-interest.

c. A rational decision-maker will take only those actions for which the expected
marginal benefit is greater than or equal to the expected marginal cost.

d. The other-things-constant assumption allows the economists to make useful
predictions.

e. None of the above.

2. Which of the following statement is false?

a. The larger the marginal propensity to save, other things constant, the steeper the
consumption function. '

b. Assume there are no taxes. Suppose that when income rises from $5.2 million
1o $6.0 million, consumption rises from $5.0 million to $5.6 million. The
marginal propensity to save is 0.25.

c. When the price level decreases, other things constant, people consume more
because the real value of their wealth increases.

d. Increases in the marginal propensity to consume, other things constant, increase
the value of the multiplier.

e. None of the above.

3, Which of the following statement is false?

a. The opportunity cost of holding money is the interest foregone on potential
interest-carning assets.

b. A vertical money supply curve means that the quantity of money supplied is
independent of the interest rate. '

¢. Increasing money supply reduces interest rate.

d. Part of the effect of an increase in government spending is offset by a reduction
in private investment spending because the increase in government spending
causes interest rate to rise, crowding out investment spending.

e. None of the above.

4, Which of the following statement is false?
a. Negative marginal utility means that total utility is decreasing as additional units

10

15

20

25




10

20

(HEX)

g
“~d

B3 ob oy R BTGB A AR A R

5

151

25]

B : &ﬁ%ﬁ o /&%ﬂ (q,yf.lo %2R g.'

are consumed.

b. As a utility-maximizer, you would be willing to pay twice as much for Good X
as you pay for Good Y if you purchase twice as much of Good Y as you buy of
Good X. :

¢. The utility-maximizing combination of geods occurs when the marginal utility
per dollar spent on each good is equal.

d. Interms of utility theory, “equilibrium” in the real world means that households
have spent their incomes in such a way that their overall satisfaction is
maximized.

e. None of the above.

5. Which of the following statement is false?

a. The value of money is fundamentally determined by the value of the
commodities for which it can be traded.

b. The greater the number of different goods available in an economy, the less
likely it is that a double coincidence of wants will exist, and the more likely it is
that monetary exchange will develop.

c. An increase in the interest rate will decrease investment only if firms have to
borrow money to make an investment,

d. The aggregate demand-aggregate supply mode! suggests that an increase in the
money supply will cause in the short run an increase in both the price level and
real GDP.

e. None of the above.

IL. (15 points)

The trade deficit or trade surplus figures are announced regularly. Basically, the

foréféﬂ exchange traders, including the hedgers and the speculators, react to the

announcement and may try to forecast the figures before they are announced.

a. Why do you think the trade deficit or trade surplus announcement will affect the
foreign exchange trading?

b.Is it possible that the foreign exchange traders do not respond to the announcement
even though the announced deficit or surplus is quite large? Why and why not?

IiL (15 points)

The government matches NSYSU’s anti-drug abuse expenditures dollar for dollar.
Under this program, NSYSU spends $100,000 on anti-drug abuse ($50,000 from the
city treasury and $50,000 from the central government). Recently, the government
has proposed stopping this program and replacing it with a $50,000 lump sum grant.
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How would the holders of NSYSU view this proposal?

IV. (15 points)

The demand for Product A is made up of both domestic and foreign demands. The
total demand is the sum of the two markets, which are given as :

Domestic market: P=50-0.05Q,

Foreign market: P=30-0.0075Q;

Where (P, Q) and (P;, Q) are the prices and quantities for the domestic market and
foreign market, respectively.

a. Determine the total demand for Product A.

b. What are the prices at which domestic and foreign buyers would enter the market?
¢. What are the domestic and foreign quantities of purchases at P=§257

V. (15 points)

John derives utility from the consumption of X and Y. His utility function is as

follows:

UX,V)=XY.

John has an income (I) of $100 and the prices of X and Y are both $1.

a. Determine fohn’s budget line.

b. What quantities of X and Y that John will consume?

¢. Holding John’s income and price of Y constant at $100 and $1, please determine
John’s demand curve for X. '

d. Suppose that a tax of $0.5 is levied on per unit of Y consumed. = How would this
tax system alter John's utility and consumption?

VI (15 points)

In a used car market, we assume that the seller of the used car owns perfect
information about the value of the car.  On the other hand, the buyer has poorer
information. The buyer just realizes that the distribution of the value of the used car.
Suppose that the value of a used car obeys a uniform distribution, U(0,1). In this
case, how much does a buyer offer to buy a used car?

&3 qi%%@l'/ﬁ’%"'\l(ﬁ'dﬁ) A3% F3 R
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1. Henry Mintzberg's obscrvations of managers and subsequent research indicated
that the diverse manager activities could be organized into ten

functions

activities

roles

actions

e. departments :

ae TP

2. Which areas in the behavioral sciences have significantly influenced the way in
which managers approach organizational strategy and structure?

science and math

Psychology and biclogy

Scciology and Philosophy

Economics and Sociology

Economics and Psychology

eanTs

3. The term is used to describe a country's physical facilities that
support ecanomic activities.

a. development structure

b. government structure

¢. infrastructure

d. financial structure

e. social structure

4. A nation's culture is made of which of the following elements:
a. language, economy, political structures
b. knowledge, beliefs and values as well as the common modes of behavior and
ways of thinking, among members of society
¢. market systems, exchange rates and transportation routes
d. economic development, political stability, infrastructure
e. the risk of losses of assets, earning power, or managerial control due to
political events or actions by host governments

5. The difference between a merger and a joint venture is?

the number of people involved

the amount of capital investment involved between the firms

joint ventures are between individuals, mergers are between organizations
Joint venture is a strategic alliance. Mergers combine two or more
organizations into one.

e. both are the same term for each other

pe e

6. A is a desired future state that the organization attempts to
realize,

blueprint

scheme

goal

plan

strategy

o opTe
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7. The invests his or her money and owns the business but does not
have to develop a new product, create a new company or test the market.
- franchiser

partner

corporation

franchisee

proprietor

oo FD

8. Which of the following is not a quantitative technique? o “
break-even analysis

linear programming -
pay-off matrices

programmed decisions not establishing precedent , -
decision trees

Pop e

9. The structural design approaches that reflect different uses of chain of command
in departmentalization are______. -
functional, divisional, matrix, teams and networks
functional, departmental, minimal, teams and networks 410
fundamental, divisional, matrix, teams and orgamzatmnal
divisional, matrix, teams and networks

functional, matrix, teams and networks

p e TP

10. Which is a structure that groups departments together according to
organizational outputs?

geographical approach

functional approach

divisional approach

matrix approach 15
organizational approach

pREDE

il. changes involve the hierarchy of authority, goals, structure,
characteristics, administrative procedures, and management styles.

Culture/ people ' .
Structural _

New product .
Technology

Economy -

pRPFE

12.  Within the context of changes of trends in society, human resource managers 420
must achieve the three primary goals of . : and
an effective workforce for the organization. : .
planning, organizing, controlling
attracting, developing, maintaining
staffing, organizing, controlling
maintaining, planning, developing
organizing, staffing, and planning

g Fr

13. Typical questions that might be asked in human resource planning include all of
the following except_ . o5
a. what new technologies are emerging, and how will these affect the work
system?
b. what is the volume of the business likely to be in the next five to ten years
¢. what was the number of defective products that were returned last month?
d. what is the turnover rate and how much if any is avoidable?
e. who is up for promotion or transfer, and whom do we plan as a replacement?
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14. One approach to enhancing recruiting effectiveness is called
on the job training (OJT)

an exit interview (AET)

an initial interview (AII)

realistic job preview (RIP)

grounds for immediate dismissal (GFID)

peeTe

15. is the belief that one's own group and subculture are
inherently superior to other groups or cultures.

a. Monoculture

b. Pluralism

¢. FEthonorelativism

d. Ethnocentrism

e. Eccentric

16. The glass ceiling
a. isa visible barrier that sepa:ates the parking deck from the front lobby at
Corning Glass
b. isan invisible barrier that separates women and minorities from top
management positions
¢.” does not really ever exist
d. exist only in the glass industries
e. isthe same as glass walls

17. power comes from a formal managemcnt position in an organization

and authority granted to it.
Referent

. Expert

Coercive

. Reward

Legitimate

o op T

18. The autocratic and democratic styles suggest that it is the " " of the

" leader rather than a personality trait that determines leadership effectiveness.

training
breeding
behavior
responsibility
luck

P o T

i9. is the extent to which the leader is task oriented and directs
subordinates' work towards goal attainment.

initiating structure

consideration

reconsideration

lack of consideration

originating organizational structure

pon Ty

20. Leadership situations can be analyzed in terms of three elements:

a. the quantity of the membership, the organizational structure, and position of
authority

b. the quality of leader-member relationships, task structure and position power

e. the style of the leadership, the educational leve} of the membership, and the
use of power

d. the power of the leadership, the member relationships and the organizational
structure

e. position power, power-relationships and authority of the members
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21. theories emphasize the needs that motivate people. Probably one
of the most famous of these theories was developed by Abraham Maslow.
Whole person :
Social person
Economic person

pPROFTE

Reinforcement

22.

[

is based upon the works of Hertzberg and Maslow.
Job simplification :
Job downsizing

Job enlargement

pEoTE

23. programs give employees potential ownership of the business. -

Lump sum bonus

Flexible work schedules

pRpFE

Tob sharing

24, is a widely held generalization about a group of people that
assigns attributes to them solely on the basis of some common belief, which is usually
a gross generalization that is incorrect.

Stereotype

Perception organization

Perceptive selectivity

Perception

Archetype

pReTP

25. The five types of information communicated upwards are?

implementation of goals, strategies, and objective budget approvals .

. indoctrination, job instruction and rationale, goals, strategies, procedures

a.
b
¢. procedures and practices, performance feedback, memos -
d.

problems and exceptions, suggestions for improvement, performance reports,

grievances and disputes, financial and accounting information -

e. interdepartmental problem solving, coordination, staff advice to line

departments, memos, faxes d

26. The is an informal person-to-person communication network of 4

employees that is not officially sanctioned by the organization.

centralized
decentralized
grapevine
disorganized

e os

27. The concept of problem solving teams was initiated in Japan. These problem
solving teams were known as

problem teams

quality circles

discussion groups

efficiency clubs

social organizations

PO TE

Content 7

Job rotation _ _ -

Job enrichment -

Pay for knowledge -

ESOP 4

semantics §
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28.

PRSP

29.

What is the proper order of the stages of team development?
storming, norming, performing, adjourning

adjourning, storming, norming, forming, performing
performing, storming, norming, forming, adjourning
forming, storming, norming, performing, adjourning
forming, norming, storming, performing. adjourning

is defined as the systematic process through which managers

regulate organizational activities to make them consistent with expectations
established in plans, targets and standards of work performance.

o pe T

—

oo S

organizational control

. organizational planning

organizational staffing
organizational directing
organizational organizing

Top management control systems concern
waste, material, overtime, quality

. productivity, manpower needs, resources needed

product, price, place, promotion

. financial statements, financial analysis and audits

budgets, MBO systems

- TR
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I, Multiple choice (5 points each)

1. Which of the following statement is false?
a Assume normal aggregate demand and supply curves. According to Keynes,
the policy of incurring budget deficits will cause equilibrium price to rise and

equilibrium output to rise.
b. Stagflation refers to an increase in the price level accompa.med by decreases in

real output and employment.

c. In combating stagflation, a government-induced increase in aggregate demand
would help reduce unemployment but aggravate inflation.

d. Individual firms can perceive a decrease in aggregaie demand through decreased
availability of the resources they need.

e. -None of the above.

5 Tf the households start believing that unemployment will increase, the actions they

are likely to take will

a. shift the aggregate demand curve to the nght preventing the uremployment from
oCCurTing.

b. shift the aggregate supply curve to the right, preventing the unemployment from
oceurring.

c. shift the aggregate demand curve to the left, causing the higher unemployment
they believed would occur.

d. shift the aggregate supply curve to the left, causing the higher unemployment
they believed would cccur. '

e. bring stock market prices down, eventually forcing the government to buy up
stocks to keep prices high and prevent from bankruptcies.

'3, Which of the following statement is false?
a. The substitution effect of a price change describes what happens to the shift in
demand for a good when its price changes.
b. If a decrease in the price of good A causes increase in the demand for good B,
then A and B must be complements.
c. If supply increases and demand decreases, then equilibrium price will fall.
d. If income rises and the good is inferior, then demand will decrease.

e. None of the above.

4. Which of the following statement is false?
a Government borrowing to finance deficits may crowd out private investment.

410

115

20

o

25




10

15

20

254

(HmEX)

SRl k S AR EAE SRR A FRRA
: gagﬁgq) EE0®ap2 ) £33 % >R

b. If government spending and taxes increase by the same amount, then the
aggregate expenditures schedule will not change.

¢. Unemployment insurance helps to stabilize the economy by increasing
government expenditures during recession. '

d. An increase in national income will likely increase the trade deficit.

¢. Nope of the above.

5. Which of the following statement is false?

a. According to life-cycle hypothesis, people save during working years to provide
for consumption during retirement,

b. According to permanent income hypothesis, people save during good years to
offset low income during bad years. :

¢ ‘Consumption depends more on current disposable income than the future
oriented theories of consumption imply.

d. Government may increase business confidence by demonstrating a commitment
to maintaining high employment and output.

e. None of the above.

1L {15 points)

Assume that the US heavily invests in the government and corporate securities of

Taiwan. On the other hand, Taiwan residents also heavily invest in the US.  This

information is expected to hold in the near future. Now, you are an international

cash manager of a Taiwan firm exporting goods to the US.  You are required to

forecast the value of NT dollar with respect to the US dollar.  Explain how the

following situations will affect the NT doliar with all other things equal.

a. The Taiwan inflation has suddenly increased dramatically, while US inflation
remains unchanged. ‘ '

b. The Taiwan interest rates have suddenly increased dramatically, while US interest
rates remain unchanged.

¢. The US income level increased dramatically, while Taiwan income level remains
unchanged.

d. The US is expected to place a tariff on goods imported from Taiwan.

1. (15 points) _
Tt is well known that there is a trade-off relationship between the rate of return and
risk of an investment.
a. Draw a set of indifference curves between risk and return for an agent who is risk -
averse.
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b. Draw a set of indifference curves between risk and return for an agent who is risk
neutral.
c. Draw a set of indifference curves between risk and return for an agent who is risk

loving.

IV. (15 points)

Mary consumes products X and Y and spends $250 per time period.  The unit prices
for X and Y are $30 and $20, respectively. Mary’s utility is given below:

UL Y)=0.5XY

a. Please determine Mary’s budget line.

b. What quantities of X and Y that Mary will consume?

¢. What is the total utility generated per unit of time for Mary?

V. (15 points)

Please define the following terms.
a. Moral hazard

b. Neutralitjf ‘of money

c. Liquidity preference theory

d. Pareto optimum

e, Risk-free arbitrage

V1. {15 points)

In & used car market, we assume that the seller of the used car owns perfect
information about the value of the car.  On the other hand, the buyer has poorer
information. The buyer just realizes that the distribution of the value of the used car.
Suppose that the value of a used car obeyé a uniform distribution, U(0,1}. In this
case, how much does a buyer offer to buy a used car?
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1. NREIETE TR SR A pEhEY '
A. BT EARENERRAY - f&ﬂﬁﬂluﬁaﬁﬁﬂg_fﬁaiﬁ:ﬁlﬁf
B. B TiFiERARN TSR - iTEE SERE
. BTEASZAESE THLE - SREEECHREEN
D. feBtRERH R THRRBESHT - » BAREAE A BB

2. BERRTTSRLSTE- NIRRT ﬂﬂﬁﬁﬁ%mﬁﬁ%ﬁﬁ@ W%%Tﬁ#
% NEHIRERRAAT

A. FIREGRIBERR

B. AEIRESRATHER:

C. EEEEENR

D. FEE EEER

3. FHIIF—EMGLE Y B A AR
A, BT Maslow i E AR ENLEES
B. — M ARMFEETIE _
C. FEEHERTIRSHAAGERIR T
D. —ALRERLE  MREHET

4. ERTESEETERKTETIRE » FHITE— R RZERE?
A, HARERAR - REEATETAEEGTREE
. HAEAIE > AR TR E R R
C. RS TR IR R - DRRBRREER
D. {SEEERLETE S THRIE  DUMERTET

5. Henry Mintzberg i CEOs MU-HREMEFHARE ~ &~ fﬁfﬁ_mjtiﬁ Sl
ﬁ&ﬂ@ﬁﬂéﬁgﬁmﬁﬁﬁﬁﬁPﬁgr}“ﬁﬁ

A. Figurehead

B. Leader

C. Liaison

D. Entrepreneur
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6. "FHUAER T By BOT (BUER ~ B ~ BHDMHIE?

A R BRI T B R ERE

B YEEIEAEEMTEEASKRT TEFA L BER
C. SRTIEIBOR R4S TR AR R
D. B S R PR H R A RS

7. #B$#8 Luther Gulick MH&I% ERTTEgEE  (LEETE

BRETR) °
A.

o G =

8. FEEheE /BRI - TREHR TYIREIR ﬁﬂﬁﬁﬂﬁﬁ"]ﬁﬁﬁﬁ%’%.
f%l[_.\ﬁ“ﬁ » BRIETE?

W (aggression) , ' -
B. %7 (apathy)

C.

D. 3Bk (regression)

A

THERBLIG

POSDCORB -

SKART
ESOP

{738 (fantasy)

9. TFlEEes REATRBRRECRETR - JRbRNE - BRMEHT
SRS ~ FE ~ HBEE) T Kets de Vries BB REEMH P HEMIER

FSEy

. BEIF (envy) . 7

nEfE (jealousy)
$EEE (distrust)

. %82 (disillusion)

10. B EEEEH %’fﬁﬁﬂi&%ﬁ‘]&ﬁz-‘% PR » EREEM=
S » AR E TR TIERE %ETF’E%% DlaieREE
B8 o T ER U = AMEL T

A.

TRk RS FINS? | - .
B. AHENG?

C.

D. BTFEAESTRINE?

FREHBEERERIE?
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11. Peter Senge BLI—EulHy Rl mﬁﬂﬁiﬂﬂ,ﬁm{rﬁﬁﬁﬁﬁ -
BB A R s G B A IEHR RATE o

A, T

B. W

C. RZE,

D. ¥y

19, FHEE SO RSB AR R EN 57
A, THESEE

B REE
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SRR
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13. ﬂ—ﬁﬁgmﬁﬁﬁﬁmﬁ@ﬁ%@m%ﬂé%ﬁéiﬁﬁmw
A. BhEBPEZFHR
B. EEER
C. EEER R
D, BIEEM R
14. {2% X ERNEEEREL B ERR
A LEER
B. TIEfTR
C. AWEHE
D. FfEFLL

w.ﬁﬁﬂ%ﬁ%’%&%ﬁﬁkﬁﬁﬁﬁﬁ%ﬁE¢’W—E%EE?
A, EEEHN SR TIRE T
B. BN ORI
C. BHEESAKRESEY
D. EfSZEEEEEAINR

16. 1B% A% Peter Drucker SHEAEEEY L BHTHSHERS i -
FHHTE IR R AT

A, AEERE(The age of discontinuity)

3. HigEH (nanagenent by objectives)

C. {E{&%E (Value chain)

D, HATER T AR (New class of knowledge workers)
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17.2880(F. V. Taylor)Bl__ IEHMECEEE » f9F (Elton Nayo)ll  MHE4E
A, &EUE . AH1E
B. SESH fTHEE
C. TR, 1R
D, MINEE» AJTER

18. THIEMRESE—(REAEROSERT - %R URRERRNT?
A, BEBEIRENE - ERASEIEEH
‘B, EEIMEE
C. FEZHEBRRLLRRN AN
D. EiRYE R

19. TIHERARREEBANA » DARK TINERE: - SHNEHTEER
B ETREREHP S B—EErHE? '

A. T8N (peasurability)

B. E#M: (substantiality)

C. nfiME (accessibility)

D. ®[fTH (actionability)

20. IREEEADIREEE o SUTERITBESEET 2 FEBR 2R
T ARHE— TR YRR ?
A, MR
B. Aajar
C. ¥k
C. Wi

21. EAGR » BETEAMIRIE=ME F RFERE 'F?'EB—{E F&a]

HETFEHT? ' :

A. Fate (ép58)
B. Favor (Af&)
C. Faith (D
D. Face (FHF)
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D. ATHEAR  EERGREEIHSI SRS i
93, E—{H UG EEESRNETER T EEEESMET - RBRARA -
shadmaviEg B o

A. FHEEE (definition thinking)

B. HEEmE# (inference thinking) .

C. $&8fE# (projective thinking)
D. TEEE (habitual thinking)

24, REEFEH CHER » HANMGFRERA SRR

A, BB AL

B. BSWIHE ‘ ]
C. ERRIERL -

D. B - o ST
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A, HuE
B. ER
C. EB%& ' ‘ o
D. zhig ‘ - '
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